
E-Motion 3-leg elektric heigth adjusting DL5/DL6 IC
Right and left sided

- Crossbar containing  3 parts
- 1 pcs. 1 meter, 1 pcs. 2 meter and 1 pca. 2,5 meter cabel
- 1 pcs. main powersource 220V cabel
- 1 pcs. adjusting panel  (2 pcs 3,5x20 screws)
- 1 pcs. controlbox (2 pcs 4,5x50 screws)
- 5 pcs. cabel clips

Legs: M6 x 20, total 12 pcs
Crossbars/end bars: M6x16, total 12 pcs

16mm  2 pcs

16mm  2 pcs

 20mm  4 pcs

20mm  4 pcs

16mm  2 pcs

 16mm  2 pcs

Wood Screws 5x20 mm to screw from 
crossbar and end bars into the plate

16mm 2 pcs

 20mm  4 pcs

Wood Screws 5x20 mm to screw from 
crossbar and end bars into the plate

16mm  2 pcs

Pictures, FDV, dwg: 

eller:
https://scansorlie.no/produkt/e-motion/

Pictures, FDV, dwg: 

eller:
https://scansorlie.no/produkt/e-motion/




